HandCalbra

_ —

A DFK AMERICA COMPANY

SPARE - PARTS CATALOG

INTIMIDATOR

XD4




INTIMIDATOR
HandCalrs

XD4

N

CAB PREVIEW

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

L 4

INTIMIDATOR

XD4

D

Catalogue no.

Description

59S01U01S30

ROOF

59S01U01S40

LEFT DOOR

59S01U01S10

FRONT PANEL

59S01U01S50

RIGHT DOOR

QB W[N] =

59S01U01S20

REAR PANEL

_L_l_L_L_Lo

HardCabs
2464 Wisconsin Ave.
Downers Grove, IL 60515

630-324-8585

info@hardcabs.com

www.hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

I (Cal INTIMIDATOR

XD4

L 4

FRONT PANEL

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.

Downers Grove, IL 60515 info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCals

XD4

L 4

* 7 Y ¥°

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

HandCalrs

N

INTIMIDATOR

XD4

ID | Catalogue no. Description Qty
1 | 00-101U-004 FRONT UPPER LEDGE HOLDER 2
2 | 59S02U01-30M008 | FIXING ASSEMBLY 2
3 | 59S01U01-10W004 | FRONT UPPER LEDGE WELDED 1
4 | 59S01U01-10M005 | FRONT UPPER LEDGE TIGHTENING STRAP 2
5 | 00-20M001 FRONT HINGE 2
6 | 59S01U01-10M006 | FRONT WIPER ASSEMBLY 1
7 | 59S01U01-10M004 | FRONT GLASS WITH SEALING 1
8 | 00-20M005 GAS SPRING HOLDER 2
9 | 00-10M022 GAS SPRING 2
10| 00-10M023 FRONT GLASS LOCK 2
11| 00-199U-010 FRONT GLASS STOP 2
12| 59S01U01-10M003 | RIGHT FRONT BOTTOM LEDGE HOLDER ASSEMBLY 1
13| 59S01U01-10W001 | FRONT BOTTOM LEDGE WELDED 1
14| 59S01U01-10-005 | FRONT BOTTOM LEDGE EPDM 1
15| 59S01U01-10M009 | LEFT FRONT BOTTOM LEDGE HOLDER ASSEMBLY | 1
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515

info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

REAR PANEL

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

FHandCala

7

INTIMIDATOR

XD4

Position Catalogue no. Description Qty
1 001771759S01U01-20M001 RUBBER PROFILE "KR 15x4" 1 1
2 59S01U01-20-001 REAR WINDOW POLY 1
3 59S01U01-20-003 REAR WINDOW HOLDER 6
4 001309 PLASTIC NUT COVER OK13 6
5 001388 SELF-LOCKING NUT M8 6
6 001407 WASHER 8 LARGE 6
7 001428 RUBBER WASHER 8 6
8 001429 PLASTIC WASHER 8 6
9 001760 SCREW M8x35 6
10 001012759S01U01-20M001 RUBBER PROFILE "SARAZIN" 1
11 59S01U01-20W001_01 REAR BOTTOM LEDGE 1
12 001426 WASHER 6 4
13 001392 SELF-LOCKING NUT M6 4
14 001348 PLASTIC NUT COVER OK10 4
15 59S01U01-20W003 LEFT BOTTOM HOLDER 1
16 001005*59S01U01-20M002 RUBBER PROFILE "PIRELA STRAIGHT" 1
17 59S01U01-20W002 RIGHT BOTTOM HOLDER 1
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.

Downers Grove, IL 60515

info@hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

ROOF

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

10


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

vge‘?"" *
‘ e
@b o'. -t
@b “ -0
@t 0" L
(10) | 00~ -
+QOore ’ ‘
Position Catalogue no. Description Qty
1 00-101U-004 ROOF HOLDER 4
2 59S01U01-30W001 ROOF PANEL 1
3 001010*59S01U01S30 RUBBER PROFILE "SARAZIN" 1
4 001309 PLASTIC NUT COVER OK13 8
5 001388 SELF-LOCKING NUT M8 8
6 001407 WASHER 8 LARGE 8
7 001428 RUBBER WASHER 8 8
8 001429 PLASTIC WASHER 8 8
9 002121 SCREW M8x30 8
10 001001°59S01U01S30 RUBBER PROFILE "LEMOVKA" 1
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

11


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

LEFT DOOR + RIGHT DOOR

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

12


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

Position Catalogue no. Description Qty
1 dkkkkdk RIGHT DOOR BASE 1
2 FRRERERAE RIGHT DOOR POLY ASSEMBLY 1
3 HEERRWEE RIGHT DOOR WELDED ASSEMBLY 1

THE LEFT DOOR IS SIMILAR WITH THE RIGHT DOOR, JUST USE LEFT OR RIGHT TABLE

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

13


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HHandCalra

XD4

N

DOOR BASE

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

14


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR

XD4

eO°9°

HardCabs
2464 Wisconsin Ave.
Downers Grove, IL 60515

630-324-8585

info@hardcabs.com

www.hardcabs.com

15


http://www.hardcabs.com/
mailto:info@hardcabs.com

FHandCala

7

INTIMIDATOR

XD4
RIGHT TABLE

Position Catalogue no. Description Qty
1 59S01U01-50W001 RIGHT DOOR BASE 1

2 002575 SCREW M8x20 8

3 001407 WASHER 8 LARGE 11
4 001388 SELF-LOCKING NUT M8 11
5 001308 PLASTIC NUT COVER OK13 11
6 00-101U-004 BASE UPPER HOLDER 1

7 59S01U01-50W007 RIGHT BASE UPPER HOLDER 1

8 59S01U01-50-023 REAR WINDOW HOLDER 3

9 59S01U01-50W006 RIGHT BASE MIDDLE HOLDER 1
10 59S01U01-50-004 BASE BOTTOM HOLDER 1
11 001771759S801U01-50M003 SEALING "KR 15x4" 1
12 001001459S01U01-50M003 RUBBER PROFILE "LEMOVKA" 1
13 001485 WASHER 10 2

LEFT TABLE

Position Catalogue no. Description Qty
1 59S01U01-40W001 LEFT DOOR BASE 1

2 002575 SCREW M8x20 8

3 001407 WASHER 8 LARGE 11
4 001388 SELF-LOCKING NUT M8 11
5 001308 PLASTIC NUT COVER OK13 11
6 00-101U-004 BASE UPPER HOLDER 1

7 59S01U01-40W007 LEFT BASE UPPER HOLDER 1

8 59S01U01-50-023 REAR WINDOW HOLDER 3

9 59S01U01-40W006 LEFT BASE MIDDLE HOLDER 1
10 59S01U01-50-004 BASE BOTTOM HOLDER 1
11 001771759S01U01-50M003 SEALING "KR 15x4" 1
12 001001759S01U01-50M003 RUBBER PROFILE "LEMOVKA" 1
13 001485 WASHER 10 2

HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.

Downers Grove, IL 60515

info@hardcabs.com

16


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HandCalrs

XD4

N

DOOR POLY ASSEMBLY

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

17


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR

XD4

HardCabs
2464 Wisconsin Ave.
Downers Grove, IL 60515

630-324-8585

info@hardcabs.com

www.hardcabs.com

18


http://www.hardcabs.com/
mailto:info@hardcabs.com

N

INTIMIDATOR

XD4
RIGHT TABLE
Position Catalogue no. Description Qty
1 001762 GLASS STOP 1
2 001700 GLASS LOCK 1
3 59S01U01-50-020 DOOR GLASS MOVABLE 1
4 59S01U01-50-021 RIGHT WINDOW FRAME 1
5 59S01U01-50-019 DOOR GLASS SOLID 1
6 001309 PLASTIC NUT COVER OK13 9
7 001388 SELF-LOCKING NUT M8 9
8 001387 WASHER 8 6
9 001348 PLASTIC NUT COVER OK10 26
10 001459 TEX SCREW 6,3x25 3
11 001426 WASHER 6 25
12 59S01U01-50-027 GAS SPRING HOLDER 1
13 000868 GAS SPRING 1
14 002120 SCREW M6x25 7
15 001715 PLASTIC WASHER 6 24
16 001392 SELF-LOCKING NUT M6 21
17 001735 RUBBER WASHER 6 3
18 001736 SEAT WASHER 6 3
19 001701 SCREW M6x30 2
20 002952 SCREW M6x35 15
21 59S01U01-50W003 RIGHT HINGE DOOR 2
22 001431 LUBRICATOR COVER 2
23 001430 LUBRICATOR 2
24 001308 PLASTIC NUT COVER OK13 LONG 4
25 001407 WASHER 8 LARGE 4
26 001411 SCREW M8x30 4
27 002454759S01U01S50 RUBBER PROFILE "SARAZIN SIDE" 1
28 001004759S01U01S50 RUBBER PROFILE "PIRELA SIDE" 1
29 59S01U01-50-014 RIGHT BOTTOM EPDM 1
30 59S01U01-50-024 RIGHT BOTTOM LEDGE 1
31 59S01U01-50-013 RIGHT FRONT EPDM 1
32 59S01U01-50-026 RIGHT FRONT LEDGE 1
33 59S01U01-50-002 RIGHT DOOR PANEL POLY 1
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.

Downers Grove, IL 60515

info@hardcabs.com

19


http://www.hardcabs.com/
mailto:info@hardcabs.com

FHandCala

7

INTIMIDATOR

XD4
LEFT TABLE
Position Catalogue no. Description Qty
1 001762 GLASS STOP 1
2 001700 GLASS LOCK 1
3 59S01U01-50-020 DOOR GLASS MOVABLE 1
4 59S01U01-40-021 LEFT WINDOW FRAME 1
5 59S01U01-50-019 DOOR GLASS SOLID 1
6 001309 PLASTIC NUT COVER OK13 9
7 001388 SELF-LOCKING NUT M8 9
8 001387 WASHER 8 6
9 001348 PLASTIC NUT COVER OK10 26
10 001459 TEX SCREW 6,3x25 3
11 001426 WASHER 6 25
12 59S01U01-50-027 GAS SPRING HOLDER 1
13 000868 GAS SPRING 1
14 002120 SCREW M6x25 7
15 001715 PLASTIC WASHER 6 24
16 001392 SELF-LOCKING NUT M6 21
17 001735 RUBBER WASHER 6 3
18 001736 SEAT WASHER 6 3
19 001701 SCREW M6x30 2
20 002952 SCREW M6x35 15
21 59S01U01-40W003 LEFT HINGE DOOR 2
22 001431 LUBRICATOR COVER 2
23 001430 LUBRICATOR 2
24 001308 PLASTIC NUT COVER OK13 LONG 4
25 001407 WASHER 8 LARGE 4
26 001411 SCREW M8x30 4
27 002454759S01U01S50 RUBBER PROFILE "SARAZIN SIDE" 1
28 001004"59S01U01S50 RUBBER PROFILE "PIRELA SIDE" 1
29 59S01U01-40-014 LEFT BOTTOM EPDM 1
30 59S01U01-40-024 LEFT BOTTOM LEDGE 1
31 59S01U01-40-013 LEFT FRONT EPDM 1
32 59S01U01-40-026 LEFT FRONT LEDGE 1
33 59S01U01-40-002 LEFT DOOR PANEL POLY 1
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515

info@hardcabs.com

20


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR
HHandCalrs

XD4

N

DOOR WELDED ASSEMBLY

HardCabs 630-324-8585 www.hardcabs.com
2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

21


http://www.hardcabs.com/
mailto:info@hardcabs.com

INTIMIDATOR

XD4

RIGHT TABLE
Position Catalogue no. Description Qty
1 59S01U01-50W002 RIGHT DOOR FRAME WELDED 1
2 001703 HANDLE 1
3 000856 DOOR STOP NUT 1
4 000857 DOOR STOP WASHER 1
5 000855 DOOR STOP HOOK 1
6 000854 DOOR STOP PIN 1
7 59S01U01-50-015 RIGHT DOOR STOP HOLDER 1
8 002575 SCREW M8x20 3
9 001407 WASHER 8 LARGE 3
10 001388 SELF-LOCKING NUT M8 3
11 001309 PLASTIC NUT COVER OK13 3
12 000841 OUTER DOOR LOCK 1
13 001744 RIGHT INNER DOOR LOCK 1
14 00-109U-001 MIRROR RUBBER 1
15 001723 SCREW M6x20 2
16 001426 WASHER 6 2
17 001392 SELF-LOCKING NUT M6 2
18 001348 PLASTIC NUT COVER OK10 2
19 00-109U-002 MIRROR HOLDER 1
20 001420”00-109U-M004 SEALING "PE 25x3" 1
21 002774 RIGHT MIRROR 1
22 001701 SCREW M6x30 2
23 001715 PLASTIC WASHER 6 2
24 001735 RUBBER WASHER 6 2
25 001736 SEAT WASHER 6 2
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515 info@hardcabs.com

22


http://www.hardcabs.com/
mailto:info@hardcabs.com

FHandCala

7

INTIMIDATOR

XD4
LEFT TABLE
Position Catalogue no. Description Qty
1 59S01U01-40W002 LEFT DOOR FRAME WELDED 1
2 001703 HANDLE 1
3 000856 DOOR STOP NUT 1
4 000857 DOOR STOP WASHER 1
5 000855 DOOR STOP HOOK 1
6 000854 DOOR STOP PIN 1
7 59S01U01-40-015 LEFT DOOR STOP HOLDER 1
8 002575 SCREW M8x20 3
9 001407 WASHER 8 LARGE 3
10 001388 SELF-LOCKING NUT M8 3
11 001309 PLASTIC NUT COVER OK13 3
12 000841 OUTER DOOR LOCK 1
13 001743 LEFT INNER DOOR LOCK 1
14 00-109U-001 MIRROR RUBBER 1
15 001723 SCREW M6x20 2
16 001426 WASHER 6 2
17 001392 SELF-LOCKING NUT M6 2
18 001348 PLASTIC NUT COVER OK10 2
19 00-109U-002 MIRROR HOLDER 1
20 001420”00-109U-M004 SEALING "PE 25x3" 1
21 002774 RIGHT MIRROR 1
22 001701 SCREW M6x30 2
23 001715 PLASTIC WASHER 6 2
24 001735 RUBBER WASHER 6 2
25 001736 SEAT WASHER 6 2
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515

info@hardcabs.com

23


http://www.hardcabs.com/
mailto:info@hardcabs.com

JIuﬁ.dCa.bi\ INTIMIDATOR
- XD4
ELECTROINSTALLATION (WIPER+WASHER+HEATER)

Position Catalogue no. Description Qty
1 59S01U01-01M001 WIPER/WASHER HARNESS 1
2 000968 SWITCH WIPER /WASHER /OFF 1
3 000885 WASHER TANK 1
4 001576 WASHER MOTOR 1
5 001652 FUSE BOX 2x1 1
6 002764 WIPER MOTOR 12V 1
7 002624 HEATER 12V 1
8 59S01U01-03-004 HEATER HOLDER 1
9 59S01U01-03W001 AIR VENT GRILL HOLDER 1
10 002848 AIR VENT GRILL 3
11 002739 AIR VENT STRAIGHT 1
12 002491 BLEEDING VALVE 1
13 002386 ELECTRIC VALVE 1
14 002857 HOT AIR HOSE g40MM 1
15 002638 HOT AIR HOSE g45MM 1
16 002705 AL TAPE 1
17 003536 “T” COUPLING 2
18 002502 “Y” COUPLING BIGGER 2
19 002503 “Y” COUPLING MEDIUM 2
20 002391 EL. VENT SWITCH 1
21 002702 HEATER SWITCH ASSEMBLY 1
22 32S05U01-02M001 HEATER HARNESS 1
23 000896 HOT WATER HOSE 1
24 000881 WASHER TUBE 1
25 001367 TIGHTENING STRAP SMALL 6
26 002642 TIGHTENING STRAP MEDIUM 8
27 002643 TIGHTENING STRAP LARGE 5
28 001368 AIR HOSE TIGHTENING STRAP 4
29 000931 WATER HOSE SPIRAL 1

HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515

info@hardcabs.com

24


http://www.hardcabs.com/
mailto:info@hardcabs.com

HandCalra.

INTIMIDATOR

XD4

Position : 1 Position : 2 Position : 3
Catalogue no.: 59501U01-
01M001 Catalogue no.: 000968 Catalogue no.: 000885

Position : 4

Position : 5

Position : 6

Catalogue no.: 001576

Catalogue no.: 001652

Catalogue no.: 002764

Position : 7 Position : 8 Position : 9
. Catalogue no.: 59501U01-03- Catalogue no.: 59501U01-
Catalogue no.: 002624 004 03W001

HardCabs
2464 Wisconsin Ave.
Downers Grove, IL 60515

630-324-8585

info@hardcabs.com

www.hardcabs.com



http://www.hardcabs.com/
mailto:info@hardcabs.com

L 4

INTIMIDATOR

XD4

Position : 10

Position : 11

Position : 12

Catalogue no.: 002848

Catalogue no.: 002739

Catalogue no.: 002491

Position : 13

Position : 14

Position : 15

Catalogue no.: 002386

Catalogue no.: 002857

Catalogue no.: 002638

Position : 16

Position : 17

Position : 18

Catalogue no.: 002705

Catalogue no.: 003536

Catalogue no.: 002502

HardCabs
2464 Wisconsin Ave.
Downers Grove, IL 60515

630-324-8585

info@hardcabs.com

www.hardcabs.com

26


http://www.hardcabs.com/
mailto:info@hardcabs.com

HandCalrs

L 4

INTIMIDATOR

XD4

.
w

Qo

Position : 19

Position : 20

Position : 21

Catalogue no.: 002503

Catalogue no.: 002391

Catalogue no.: 002702

e

p
e
—

-

Position : 22

Position : 23

Position : 24

Catalogue no.: 32505U01-
02M001

Catalogue no.: 000896

Catalogue no.: 000881

Position : 25

Position : 26

Position : 27

Catalogue no.: 001367

Catalogue no.: 002642

Catalogue no.: 002643

HardCabs
2464 Wisconsin Ave.
Downers Grove, IL 60515

630-324-8585

info@hardcabs.com

www.hardcabs.com

27


http://www.hardcabs.com/
mailto:info@hardcabs.com

FHandCala

N

INTIMIDATOR

XD4
Position : 28 Position : 29
Catalogue no.: 001368 Catalogue no.: 000931
HardCabs 630-324-8585 www.hardcabs.com

2464 Wisconsin Ave.
Downers Grove, IL 60515

info@hardcabs.com

28


http://www.hardcabs.com/
mailto:info@hardcabs.com

